

41. a) $f(x) = \sqrt{x+1} - \sqrt{1-x}, x \rightarrow 0$

$$\lim_{x \rightarrow 0} \frac{\sqrt{x+1} - 1}{x} = \frac{1}{2}$$

$$\sqrt{x+1} \sim 1 + \frac{1}{2}x + o(x), x \rightarrow 0$$

$$\sqrt{1-x} \sim 1 + \frac{1}{2}(-x) + o(x), x \rightarrow 0$$

$$f(x) \sim \cancel{1} + \frac{1}{2}x + o(x) - \cancel{1} - \frac{1}{2}(-x) - o(x) = x + o(x), x \rightarrow 0.$$

39. a)

$$f(x) = \begin{cases} x \ln x^2, & x \neq 0 \\ \alpha, & x = 0 \end{cases}$$

$(-\infty, 0) \cup (0, +\infty) \sim x \cdot \ln x^2$ непрекидна на $(-\infty, 0) \cup (0, +\infty)$

f неур y $x=0$?

$$\lim_{x \rightarrow 0^+} x \cdot \ln x^2 = ?$$

$$\lim_{x \rightarrow 0^-} x \cdot \ln x^2 = ?$$

$$x^2 > 0$$

$$x^2 = e^t, t \in \mathbb{R}$$

$$x \rightarrow 0, x^2 \rightarrow 0 \Rightarrow t \rightarrow -\infty$$

$$\lim_{x \rightarrow 0^+} x \cdot \ln x^2 = \lim_{t \rightarrow -\infty} e^{t/2} \cdot \ln e^t = \lim_{t \rightarrow -\infty} e^{t/2} \cdot t = \lim_{t \rightarrow -\infty} \frac{t}{e^{-t/2}} \stackrel{t=-u}{=} \lim_{u \rightarrow +\infty} \frac{-u}{e^{u/2}} = 0$$

$$\frac{n}{c^n} \rightarrow 0, c > 1, n \ll c^n$$

$$x \ll e^x, x \rightarrow +\infty$$

$$u \ll \underbrace{(e^{1/2})^x}_1, x \rightarrow \infty$$

$$\lim_{x \rightarrow 0^-} x \cdot \ln x^2 = 0$$

f je неур y 0 ако $\alpha = 0$

f ima непрекид I branje ако $\alpha \neq 0$.

38.
$$\lim_{x \rightarrow 0} \frac{(1+x)^{\sin x} - 1}{1 - \cos x} = \lim_{x \rightarrow 0} \frac{e^{\sin x \ln(1+x)} - 1}{1 - \cos x} =$$

$$= \lim_{x \rightarrow 0} \frac{e^{\frac{(x+\theta(x))(x+\theta(x))}{\frac{1}{2}x^2 + \theta(x^2)}} - 1}{\frac{1}{2}x^2 + \theta(x^2)} = \lim_{x \rightarrow 0} \frac{e^{\frac{x^2 + x\theta(x) + \theta(x) \cdot x + \theta(x) \cdot \theta(x)}{\frac{1}{2}x^2 + \theta(x^2)}} - 1}{\frac{1}{2}x^2 + \theta(x^2)} = *$$

$\sin x = x + \theta(x), \quad x \rightarrow 0$
 $1 - \cos x = \frac{1}{2}x^2 + \theta(x^2), \quad x \rightarrow 0$

$\frac{1 - \cos x}{x^2} \rightarrow \frac{1}{2}, \quad x \rightarrow 0$

$\ln(1+x) = x + \theta(x), \quad x \rightarrow 0$

$$* = \lim_{x \rightarrow 0} \frac{e^{x^2 + \theta(x^2)} - 1}{\frac{1}{2}x^2 + \theta(x^2)} = \lim_{t = x^2 + \theta(x^2)} \frac{e^t - 1}{t} =$$

$$= \lim_{x \rightarrow 0} \frac{1 + x^2 + \theta(x^2) + \theta(x^2 + \theta(x^2)) - 1}{\frac{1}{2}x^2 + \theta(x^2)} = \lim_{x \rightarrow 0} \frac{x^2 + \theta(x^2) : x^2}{\frac{1}{2}x^2 + \theta(x^2) : x^2} =$$

$$= \lim_{x \rightarrow 0} \frac{1 + \theta(1) \rightarrow 0}{\frac{1}{2} + \theta(1) \rightarrow 0} = \frac{1}{\frac{1}{2}} = 2.$$

37. $y_n = \frac{1+a^n}{n+b^n}, \quad a, b \in \mathbb{R}$

$$\lim_{n \rightarrow \infty} b^n = \begin{cases} 0 & |b| < 1 \\ 1 & b = 1 \\ +\infty & b > 1 \\ \text{не определен} & b \leq -1 \end{cases}$$

$$\lim_{n \rightarrow \infty} n + b^n = \begin{cases} +\infty & |b| < 1, b = 1, b > 1, b = -1, b \geq -1 \\ \text{не определен} & b < -1 \end{cases}$$

$b < -1$:

$$n + b^n \quad \frac{n}{b^n} \rightarrow 0, \quad b > 1$$

$$(-1)^n \frac{n}{b^n} \rightarrow 0, \quad b > 1 \quad \Rightarrow \quad \frac{n}{b^n} \rightarrow 0, \quad |b| > 1$$

$n = \theta(b^n), \quad n \rightarrow +\infty$
 $x = \theta(b^x), \quad x \rightarrow +\infty$

$n + b^n = \theta(b^n) + b^n \sim b^n, \quad b < -1$

$$\lim_{n \rightarrow \infty} 1 + a^n = \begin{cases} +\infty & a > 1 \\ 1 & |a| < 1 \\ 2 & a = 1 \\ \text{не определен} & a \leq -1 \end{cases}$$

$$\lim_{n \rightarrow \infty} y_n = \lim_{n \rightarrow \infty} \frac{1+a^n}{n+b^n} = \begin{cases} 0, & b \geq -1, |a| < 1, a=1, a=-1 \\ \text{не знамо, иначе} \end{cases}$$

1° $b \geq -1$ и $|a| > 1$

$$\lim_{n \rightarrow \infty} y_n = \lim_{n \rightarrow \infty} \frac{1+a^n}{n+b^n} \stackrel{:a^n}{=} \lim_{n \rightarrow \infty} \frac{\left(\frac{1}{a}\right)^n + 1}{\frac{n}{a^n} + \left(\frac{b}{a}\right)^n} = \begin{cases} \text{забвучи} & \left|\frac{b}{a}\right| < 1 \\ \text{ог снакца} & \\ \frac{n}{a^n} + \frac{b^n}{a^n} & \\ 1, & \frac{b}{a} = 1 \\ 0 & \frac{b}{a} < -1 \\ \text{губернатура} & \frac{b}{a} = -1 \\ 0, & \frac{b}{a} > 1 \end{cases}$$

$\frac{1}{(-1)^n} = (-1)^n$

$\frac{n}{a^n} + \frac{b^n}{a^n} = \frac{n+b^n}{a^n} = \frac{b^n + o(b^n)}{a^n} = \left(\frac{b}{a}\right)^n + o\left(\left(\frac{b}{a}\right)^n\right)$

⊗ $\rightarrow \frac{b}{a} > 0 \Rightarrow \lim_{n \rightarrow \infty} y_n = \frac{1}{0^+} = +\infty$
 $\left|\frac{b}{a}\right| < 1$

$\frac{b}{a} < 0 \Rightarrow \lim_{n \rightarrow \infty} y_n = \frac{1}{0 \cdot (-1)^n} \Rightarrow \lim_{n \rightarrow \infty} y_n$ не постоји

$b < -1$; $\frac{n}{b^n} \rightarrow 0$

$$\lim_{n \rightarrow \infty} \frac{1+a^n}{n+b^n} = \lim_{n \rightarrow \infty} \frac{1+a^n}{b^n + o(b^n)} = "0 \cdot \lim_{n \rightarrow \infty} 1+a^n" = \begin{cases} 0, & |a| < 1 \\ 0, & a=1 \\ 0, & a=-1 \\ \text{не знамо,} & |a| > 1. \end{cases}$$

$\downarrow +\infty$ и $\downarrow -\infty$ и \downarrow не знамо

$|a| > 1$

$$\lim_{n \rightarrow \infty} \frac{1+a^n}{b^n + o(b^n)} \stackrel{:a^n}{=} \lim_{n \rightarrow \infty} \frac{\left(\frac{1}{a}\right)^n + 1}{\left(\frac{b}{a}\right)^n + o\left(\left(\frac{b}{a}\right)^n\right)} = \begin{cases} 1, & \frac{b}{a} = 1 \\ \text{не постоји} & \frac{b}{a} = -1 \\ +\infty, & 0 < \frac{b}{a} < 1 \\ \text{не постоји} & 0 > \frac{b}{a} > -1 \\ 0, & \frac{b}{a} < -1, \frac{b}{a} > -1 \end{cases}$$